

Some Double q -Series by Telescoping

Kwang-Wu Chen 

Department of Mathematics, University of Taipei, Taipei 100234, Taiwan; kwchen@utapei.edu.tw

Abstract: By means of the telescoping method, we derived two general double series formulas that encapsulate the Riemann zeta values $\zeta(s)$, the Catalan constant G , $\log(2)$, π and several other significant mathematical constants.

Keywords: double series; q -shifted factorial; q -Gamma function; Gaussian polynomial

MSC: 11B65; 05A30; 33D05

1. Introduction

Recently, Chu [1], using the telescoping method, obtained the following double series expressions of $\zeta(2) = \sum_{n=1}^{\infty} \frac{1}{n^2}$ and the Catalan constant $G = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)^2}$:

$$\frac{\zeta(2)}{\lambda^2} = \sum_{i,j=1}^{\infty} \frac{(\lambda i - 1)!(j - 1)!}{(\lambda i + j)!},$$
$$8G = \sum_{i,j=1}^{\infty} \frac{(i - 1)!(j - 1)!}{\left(\frac{1}{2}\right)_{i+j}},$$

where $\lambda \in \mathbb{N}$ and the rising factorial $(x)_n = \Gamma(x + n)/\Gamma(x)$. With the works mentioned above as a source of inspiration, we derived two general double series formulas that encapsulate the Riemann zeta values $\zeta(s)$, the Catalan constant G , $\log(2)$, π and several other significant mathematical constants. We highlight some identities as examples (see Equations (20), (22), (24) and (25) in Section 3.2).



Citation: Chen, K.-W. Some Double q -Series by Telescoping. *Mathematics* **2023**, *11*, 2949. <https://doi.org/10.3390/math11132949>

Academic Editor: Jiyoun Li

Received: 26 May 2023

Revised: 18 June 2023

Accepted: 29 June 2023

Published: 1 July 2023



Copyright: © 2023 by the author. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<https://creativecommons.org/licenses/by/4.0/>).

$$\frac{\log(2)}{2} = \sum_{i,j=1}^{\infty} \frac{(2i - 2)!(2j - 2)!(i + j - 1)!}{(i - 1)!(j - 1)!(2i + 2j - 1)!},$$
$$4\log(2) - \zeta(2) = \sum_{i,j=1}^{\infty} \frac{4(2i - 2)!(2j - 2)!(i + j - 1)!}{i!(j - 1)!(2i + 2j - 1)!},$$
$$G = \sum_{i,j=1}^{\infty} \frac{\binom{\lambda i + j}{j}}{\binom{2\lambda i + 2j}{2j}} \frac{2\lambda i (-1)^{i-1}}{(2i - 1)^2 (2j - 1)!},$$
$$\frac{\sqrt{3}}{18} \pi = \sum_{i,j}^{\infty} \frac{(i + j)! i! (2j)!}{(2i + 2j)! j! (2j - 1)!}.$$

Throughout this paper, we assume that $0 < q < 1$. For complex numbers, x, α defined the q -shifted factorial by [2]

$$(x; q)_{\infty} := \prod_{i=0}^{\infty} (1 - xq^i), \quad (x; q)_{\alpha} := \frac{(x; q)_{\infty}}{(xq^{\alpha}; q)_{\infty}},$$

where the principal value of q^{α} is taken. For $z \in \mathbb{C}$, we introduce the notation

$$[z]_q := \frac{1 - q^z}{1 - q}.$$

Jackson defined the q -Gamma function $\Gamma_q(x)$ by

$$\Gamma_q(x) := \frac{(q; q)_\infty}{(q^x; q)_\infty} (1 - q)^{1-x}.$$

Thus, we can write

$$(1 - q)^{x-1} \Gamma_q(x) = (q; q)_{x-1}.$$

The q -Gamma function satisfies the fundamental functional relation

$$\Gamma_q(x + 1) = [x]_q \Gamma_q(x). \quad (1)$$

The Gaussian polynomial is the q -analogue of the binomial coefficient. It is defined by

$$\begin{bmatrix} \alpha \\ \beta \end{bmatrix}_q := \frac{\Gamma_q(\alpha + 1)}{\Gamma_q(\beta + 1) \Gamma_q(\alpha - \beta + 1)} = \frac{(q^{\alpha-\beta+1}; q)_\beta}{(q; q)_\beta}. \quad (2)$$

It is known that q -analogue is a powerful tool that generalizes mathematical expressions by replacing variables with q -deformed ones. One important example of q -analogue is the Gaussian polynomial, which is a q -analogue of the binomial coefficient. The q -binomial coefficient has found applications in many areas, including q -series, combinatorics and algebraic geometry. In algebraic geometry, there exists a close relationship between q -binomial coefficients and Grassmannians.

There have been many recent developments in the study of q -analogue. For example, q -deformed conformal field theory has been studied in [3,4], q -hypergeometric series have been studied in [5] and q -analogue of the Riemann zeta function has been studied in [6,7]. Other recent works on q -analogue can be found in [2,8].

In this paper, we begin with the base of the method of telescoping sums to provide the following two main q -analogue formulas:

Theorem 1. Let $f_q(z)$ be a q -function of z and m, n, k be any positive integers. Then,

$$\sum_{i=1}^m \sum_{j=1}^k \frac{f_q(i) q^j [ni]_q}{[j]_q \begin{bmatrix} ni+j \\ j \end{bmatrix}_q} = \sum_{i=1}^m f_q(i) \left(1 - \frac{(q; q)_k}{(q^{ni+1}; q)_k} \right), \quad (3)$$

$$\sum_{i=1}^m \sum_{j=1}^k \frac{\begin{bmatrix} ni+j \\ j \end{bmatrix}_{q^2}}{\begin{bmatrix} 2ni+2j \\ 2j \end{bmatrix}_q} \cdot \frac{[2ni]_q f_q(i) q^{2j-1}}{[2j-1]_q} = \sum_{i=1}^m f_q(i) \left(1 - \frac{(q; q^2)_k}{(q^{2ni+1}; q^2)_k} \right). \quad (4)$$

Let $f(i) = \lim_{q \rightarrow 1^-} f_q(i)$ exist and the series $\sum f(i)$ converge. In the above formulas, as k and m tend towards infinity and q approaches 1^- , the resulting equations can be written as follows (see Corollary 2 in Section 2.2 and Corollary 3 in Section 3.2).

$$\sum_{i,j=1}^{\infty} \frac{ni f(i)}{j \binom{ni+j}{j}} = \sum_{i=1}^{\infty} f(i),$$

$$\sum_{i,j=1}^{\infty} \frac{\binom{ni+j}{j}}{\binom{2ni+2j}{2j}} \cdot \frac{2ni f(i)}{2j-1} = \sum_{i=1}^{\infty} f(i).$$

Hence, we successfully reduce double series to single series, enabling us to quickly obtain results when computing such double series. Consequently, we can derive numerous

elegant representations of classical constants in the form of double series. We list three formulas as examples (see Equations (10) and (11) in Section 2.3 and Equation (27) in Section 3.2).

$$\begin{aligned}\frac{7}{4}\zeta(3) &= \sum_{i,j=1}^{\infty} \frac{O_i}{ij \binom{i+j}{j}}, \\ 7\zeta(3) - 2\pi G &= \sum_{i,j=1}^{\infty} \frac{O_{2i}}{ij \binom{i+j}{j}}, \\ \frac{\pi^2}{48} &= \sum_{i,j=1}^{\infty} \frac{\binom{2i+j}{j}}{\binom{4i+2j}{2j}} \cdot \frac{O_i}{(2i+1)(2j-1)},\end{aligned}$$

where $O_n = \sum_{k=1}^n \frac{1}{2k-1}$.

2. The First q -Formula in Theorem 1

Firstly, we utilize the q -Gamma function to create our lemma that we will employ, primarily relying on the telescoping method.

2.1. Basic Lemma

For any two complex numbers x, y , we define a sequence $Q_j(x, y)$ by

$$Q_j(x, y) := \frac{\Gamma_q(x+j)}{\Gamma_q(y+j)}. \quad (5)$$

This sequence clearly converges and we write the limit as Q_∞ , i.e.,

$$Q_\infty := \lim_{j \rightarrow \infty} Q_j(x, y) = (1-q)^{y-x}.$$

It is a basic calculation that we have

$$\frac{Q_m}{Q_0} = \frac{(q^x; q)_m}{(q^y; q)_m}, \quad \text{and} \quad \frac{Q_\infty}{Q_0} = \lim_{m \rightarrow \infty} \frac{Q_m}{Q_0} = (q^x; q)_{y-x}. \quad (6)$$

Lemma 1. For any two distinct complex numbers x, y , and a positive integer k , we have

$$\sum_{j=1}^k q^{x+j-1} \frac{\Gamma_q(x+j-1)}{\Gamma_q(y+j)} = \frac{\Gamma_q(x)}{[y-x]_q \Gamma_q(y)} \left(1 - \frac{(q^x; q)_k}{(q^y; q)_k} \right).$$

Proof. Since

$$\begin{aligned}Q_{j-1}(x, y) - Q_j(x, y) &= \frac{\Gamma_q(x+j-1)}{\Gamma_q(y+j-1)} - \frac{\Gamma_q(x+j)}{\Gamma_q(y+j)} \\ &= \frac{\Gamma_q(x+j-1)}{\Gamma_q(y+j)} \left([y+j-1]_q - [x+j-1]_q \right) \\ &= \frac{\Gamma_q(x+j-1)}{\Gamma_q(y+j)} q^{x+j-1} [y-x]_q,\end{aligned}$$

we have

$$\begin{aligned}\sum_{j=1}^k q^{x+j-1} \frac{\Gamma_q(x+j-1)}{\Gamma_q(y+j)} &= \frac{1}{[y-x]_q} \sum_{j=1}^k Q_{j-1}(x, y) - Q_j(x, y) \\ &= \frac{Q_0 - Q_k}{[y-x]_q} = \frac{Q_0}{[y-x]_q} \left(1 - \frac{Q_k}{Q_0}\right).\end{aligned}$$

By using Equations (5) and (6), we can establish the formula we want to prove. \square

When k tends to infinity, by imposing the condition $\Re(y) > \Re(x)$ on the summation mentioned above, we arrive at the subsequent outcome.

Corollary 1. For any two complex numbers x, y with $\Re(y) > \Re(x)$, we have

$$\sum_{j=1}^{\infty} q^{x+j-1} \frac{\Gamma_q(x+j-1)}{\Gamma_q(y+j)} = \frac{\Gamma_q(x)}{[y-x]_q \Gamma_q(y)} \left(1 - (q^x; q)_{y-x}\right).$$

2.2. The Proof of the First q -Formula

Moving forward, we will utilize Lemma 1 to deduce our first double q -summation formula, Equation (3).

We rewrite the following sum as

$$\sum_{i=1}^m \sum_{j=1}^k \frac{f_q(i) q^j [ni]_q}{[j]_q \begin{bmatrix} ni+j \\ j \end{bmatrix}_q} = \sum_{i=1}^m f_q(i) [ni]_q \sum_{j=1}^k \frac{q^j}{[j]_p \begin{bmatrix} ni+j \\ j \end{bmatrix}_q}.$$

The inner sum can be simplified

$$\begin{aligned}\sum_{j=1}^k \frac{q^j}{[j]_p \begin{bmatrix} ni+j \\ j \end{bmatrix}_q} &= \sum_{j=1}^k \frac{q^j \Gamma_q(ni+1) \Gamma_q(j+1)}{[j]_p \Gamma_q(ni+j+1)} \\ &= \sum_{j=1}^k \frac{q^j \Gamma_q(ni+1) \Gamma_q(j)}{\Gamma_q(ni+j+1)}.\end{aligned}$$

We apply $x = 1$ and $y = ni + 1$ in Lemma 1 and we have

$$\sum_{j=1}^k \frac{q^j \Gamma_q(j)}{\Gamma_q(ni+j+1)} = \frac{1}{[ni]_q \Gamma_q(ni+1)} \left(1 - \frac{(q; q)_k}{(q^{ni+1}; q)_k}\right).$$

Therefore, the inner sum becomes

$$\frac{1}{[ni]_q} \left(1 - \frac{(q; q)_k}{(q^{ni+1}; q)_k}\right).$$

We substitute this result into our original double sums, and then we obtain our desired result.

If we let $k \rightarrow \infty$ and $m \rightarrow \infty$ in Equation (3), then we have

$$\sum_{i,j=1}^{\infty} \frac{f_q(i) q^j [ni]_q}{[j]_q \begin{bmatrix} ni+j \\ j \end{bmatrix}_q} = \sum_{i=1}^{\infty} f_q(i) (1 - (q; q)_{ni}), \quad (7)$$

if both the series on the left and right sides of the equation converge.

Corollary 2. Let $f(i) = \lim_{q \rightarrow 1^-} f_q(i)$ exist and the series $\sum f(i)$ converge. Then, for any positive integer n , we have

$$\sum_{i,j=1}^{\infty} \frac{ni f(i)}{j \binom{ni+j}{j}} = \sum_{i=1}^{\infty} f(i). \quad (8)$$

2.3. Examples of the First Formula

We provide some applications. Let $f(i) = 1/i^2$ and $n = \lambda$ in Equation (8). Then,

$$\zeta(2) = \sum_{i=1}^{\infty} \frac{1}{i^2} = \sum_{i,j=1}^{\infty} \frac{\lambda}{ij \binom{\lambda i+j}{j}}.$$

This equation appeared in [1], Theorem 4. Based on some well-known results ([9], Equations (15) and (19)):

$$\sum_{k=1}^{\infty} \frac{\psi(\frac{1}{2} \pm k) - \psi(\frac{1}{2})}{k^2} = \frac{7}{2} \zeta(3), \quad \sum_{k=1}^{\infty} \frac{(-1)^k}{k^2} \left(\psi(\frac{1}{2} \pm k) - \psi(\frac{1}{2}) \right) = 2\pi G - \frac{7}{2} \zeta(3).$$

We know that $\psi(\frac{1}{2} \pm k) - \psi(\frac{1}{2}) = 2O_k$. Thus, we have

$$\sum_{i=1}^{\infty} \frac{O_i}{i^2} = \frac{7}{4} \zeta(3), \quad \sum_{i=1}^{\infty} \frac{O_{2i}}{i^2} = 7\zeta(3) - 2\pi G.$$

We list three more identities in the following.

$$2\zeta(3) = \sum_{i=1}^{\infty} \frac{H_i}{i^2} = \sum_{i,j=1}^{\infty} \frac{nH_i}{ij \binom{ni+j}{j}}, \quad (9)$$

$$\frac{7}{4} \zeta(3) = \sum_{i=1}^{\infty} \frac{O_i}{i^2} = \sum_{i,j=1}^{\infty} \frac{nO_i}{ij \binom{ni+j}{j}}, \quad (10)$$

$$7\zeta(3) - 2\pi G = \sum_{i=1}^{\infty} \frac{O_{2i}}{i^2} = \sum_{i,j=1}^{\infty} \frac{nO_{2i}}{ij \binom{ni+j}{j}}, \quad (11)$$

where $H_n = \sum_{k=1}^n \frac{1}{k}$ is the harmonic number. Let $n = 1$ in Equation (9); this provides the identity appearing in [1], Corollary 7:

$$2\zeta(3) = \sum_{i,j=1}^{\infty} \frac{(i-1)!(j-1)!H_i}{(i+j)!}.$$

Aside from the mentioned applications, we can also consider the case of finite summations. Simply by taking the q parameter close to 1^- in Equation (3), we arrive at the following formula.

$$\sum_{i=1}^m \sum_{j=1}^k \frac{ni f(i)}{j \binom{ni+j}{j}} = \sum_{i=1}^m f(i) \left(1 - \frac{1}{\binom{ni+k}{k}} \right). \quad (12)$$

Since ([10], Equation (5.9))

$$\sum_{k=0}^n \binom{r+k}{k} = \binom{r+n+1}{n},$$

we let $f(i) = \binom{k+i}{i}$ and $n = 1$ in Equation (12). We obtain

$$\sum_{i=1}^m \sum_{j=1}^k \frac{i \binom{k+i}{i}}{j \binom{i+j}{j}} = \sum_{i=1}^m \left(\binom{k+i}{i} - 1 \right) = \binom{k+1+m}{m} - 1 - m. \quad (13)$$

The following result is easily obtained from [11], Proposition 1:

$$\sum_{k=1}^{\infty} \frac{1}{k^2 \binom{k+n}{k}} = \sum_{k=1}^{\infty} \frac{1}{(k+n)^2}.$$

Taking $m \rightarrow \infty$ with $n = 1$ in Equation (12) and $f(i) = 1/i^2$, we have

$$\begin{aligned} \sum_{i=1}^{\infty} \sum_{j=1}^k \frac{1}{ij \binom{i+j}{j}} &= \sum_{i=1}^{\infty} \left(\frac{1}{i^2} - \frac{1}{i^2 \binom{i+k}{k}} \right) \\ &= \sum_{i=1}^{\infty} \frac{1}{i^2} - \frac{1}{(i+k)^2} = H_k^{(2)}, \end{aligned} \quad (14)$$

where $H_n^{(2)} = \sum_{k=1}^n \frac{1}{k^2}$.

3. The Second q -Formula in Theorem 1

3.1. The Proof of the Second Formula

Let A be the left-hand side of Equation (4)

$$A := \sum_{i=1}^m \sum_{j=1}^k \frac{\begin{bmatrix} ni+j \\ j \end{bmatrix}_{q^2}}{\begin{bmatrix} 2ni+2j \\ 2j \end{bmatrix}_q} \cdot \frac{[2ni]_q f_q(i) q^{2j-1}}{[2j-1]_q}.$$

Rewrite A by using Equation (2):

$$A = \sum_{i=1}^m \sum_{j=1}^k \frac{\Gamma_{q^2}(ni+j+1) \Gamma_q(2j+1) \Gamma_q(2ni+1) [2ni]_q q^{2j-1} h_q(i)}{\Gamma_q(2ni+2j+1) \Gamma_{q^2}(j+1) \Gamma_{q^2}(ni+1) [2j-1]_q}.$$

By using Equation (1), we simplify the factor

$$\frac{\Gamma_{q^2}(ni+j+1) \Gamma_q(2j+1) \Gamma_q(2ni+1)}{\Gamma_q(2ni+2j+1) \Gamma_{q^2}(j+1) \Gamma_{q^2}(ni+1)}$$

as the following

$$\frac{\Gamma_{q^2}(ni+j) \Gamma_q(2j) \Gamma_q(2ni)}{\Gamma_q(2ni+2j) \Gamma_{q^2}(j) \Gamma_{q^2}(ni)} \cdot \frac{[ni+j]_{q^2} [2j]_q [2ni]_q}{[2ni+2j]_q [j]_{q^2} [ni]_{q^2}} = \frac{\Gamma_{q^2}(ni+j) \Gamma_q(2j) \Gamma_q(2ni)}{\Gamma_q(2ni+2j) \Gamma_{q^2}(j) \Gamma_{q^2}(ni)} \cdot [2]_q.$$

Therefore, A becomes

$$\begin{aligned} A &= \sum_{i=1}^m \sum_{j=1}^k \frac{\Gamma_{q^2}(ni+j) \Gamma_q(2j) \Gamma_q(2ni) [2ni]_q q^{2j-1} (q+1) h_q(i)}{\Gamma_q(2ni+2j) \Gamma_{q^2}(j) \Gamma_{q^2}(ni) [2j-1]_q} \\ &= \sum_{i=1}^m \frac{\Gamma_q(2ni) [2ni]_q (1+q) h_q(i)}{\Gamma_{q^2}(ni)} \sum_{j=1}^k \frac{\Gamma_{q^2}(ni+j) \Gamma_q(2j-1) q^{2j-1}}{\Gamma_q(2ni+2j) \Gamma_{q^2}(j)}. \end{aligned}$$

Let B_k be the above inner sum, that is,

$$B_k := \sum_{j=1}^k \frac{\Gamma_{q^2}(ni+j) \Gamma_q(2j-1) q^{2j-1}}{\Gamma_q(2ni+2j) \Gamma_{q^2}(j)}.$$

A q -analogue of Legendre duplication formula for the Gamma function [2] is

$$\Gamma_q(2x)\Gamma_{q^2}\left(\frac{1}{2}\right) = \Gamma_{q^2}(x)\Gamma_{q^2}\left(x + \frac{1}{2}\right)(1+q)^{2x-1}. \quad (15)$$

We set $x = j - \frac{1}{2}$ and $x = ni + j$, respectively, and then we obtain

$$\frac{\Gamma_q(2j-1)}{\Gamma_{q^2}(j)} = \frac{\Gamma_{q^2}(j - \frac{1}{2})}{\Gamma_{q^2}(\frac{1}{2})}(1+q)^{2j-2} \quad (16)$$

$$\text{and } \frac{\Gamma_{q^2}(ni+j)}{\Gamma_q(2ni+2j)} = \frac{\Gamma_{q^2}(\frac{1}{2})}{\Gamma_{q^2}(ni+j+\frac{1}{2})}(1+q)^{1-2ni-2j}. \quad (17)$$

Substituting Equations (16) and (17) into B_k , we have

$$B_k = \sum_{j=1}^k \frac{\Gamma_{q^2}(j - \frac{1}{2})q^{2j-1}}{\Gamma_{q^2}(ni+j+\frac{1}{2})(1+q)^{2ni+1}}.$$

We let $x = \frac{1}{2}$, $y = ni + \frac{1}{2}$ and replace q with q^2 in Lemma 1; we can rewrite B_k as follows.

$$B_k = \frac{\Gamma_{q^2}(\frac{1}{2})}{[ni]_{q^2}\Gamma_{q^2}(ni+\frac{1}{2})(1+q)^{2ni+1}} \left(1 - \frac{(q;q^2)_k}{(q^{2ni+1};q^2)_k}\right).$$

Thus,

$$A = \sum_{i=1}^m \frac{\Gamma_q(2ni)[2ni]_qh_q(i)}{\Gamma_{q^2}(ni)(1+q)^{2ni}} \frac{\Gamma_{q^2}(\frac{1}{2})}{[ni]_{q^2}\Gamma_{q^2}(ni+\frac{1}{2})} \left(1 - \frac{(q;q^2)_k}{(q^{2ni+1};q^2)_k}\right).$$

We use Equation (15) again with $x = ni$; therefore,

$$\frac{\Gamma_q(2ni)\Gamma_{q^2}(\frac{1}{2})}{\Gamma_{q^2}(ni)\Gamma_{q^2}(ni+\frac{1}{2})} = (1+q)^{2ni-1}.$$

Substituting this result into the representation of A , we have

$$A = \sum_{i=1}^m \frac{[2ni]_qh_q(i)}{(1+q)[ni]_{q^2}} \left(1 - \frac{(q;q^2)_k}{(q^{2ni+1};q^2)_k}\right) = \sum_{i=1}^m h_q(i) \left(1 - \frac{(q;q^2)_k}{(q^{2ni+1};q^2)_k}\right).$$

Hence, we have obtained the expected equation and conclude the proof.

If we let $k \rightarrow \infty$ and $m \rightarrow \infty$ in Equation (4), then we have

$$\sum_{i,j=1}^{\infty} \frac{\begin{bmatrix} ni+j \\ j \end{bmatrix}_{q^2}}{\begin{bmatrix} 2ni+2j \\ 2j \end{bmatrix}_q} \frac{[2ni]_qh_q(i)q^{2j-1}}{[2j-1]_q} = \sum_{i=1}^{\infty} h_q(i) \left(1 - (q;q^2)_{ni}\right) \quad (18)$$

if both the series on the left and right sides of the equation converge.

Corollary 3. Let $h(i) = \lim_{q \rightarrow 1^-} h_q(i)$ exist and the series $\sum h(i)$ converge. Then, for any positive integer n , we have

$$\sum_{i,j=1}^{\infty} \frac{\binom{ni+j}{j}}{\binom{2ni+2j}{2j}} \cdot \frac{2ni h(i)}{2j-1} = \sum_{i=1}^{\infty} h(i). \quad (19)$$

3.2. Examples of the Second Formula

We provide some applications. Let $n = 1$ and $h(i) = \frac{1}{(2i)(2i-1)}$ in Equation (19) and we obtain a symmetric double series:

$$\frac{\log(2)}{2} = \sum_{i=1}^{\infty} \frac{1}{(4i)(2i-1)} = \sum_{i,j=1}^{\infty} \frac{(2i-2)!(2j-2)!(i+j-1)!}{(i-1)!(j-1)!(2i+2j-1)!}. \quad (20)$$

Moreover, let $n = 1$ and $h(i) = \frac{1}{i^s(2i-1)}$ in Equation (19), where $s \in \mathbb{N}$. Since the partial fraction decomposition is

$$\frac{1}{i^s(2i-1)} = \frac{2^{s-1}}{i(2i-1)} - \sum_{k=2}^s \frac{2^{s-k}}{i^k},$$

we have

$$2^s \log(2) - \sum_{k=2}^s 2^{s-k} \zeta(k) = \sum_{i,j=1}^{\infty} \frac{\binom{i+j}{j}}{\binom{2i+2j}{2j}} \frac{2i^{1-s}}{(2i-1)(2j-1)}. \quad (21)$$

The following are the formulas with $s = 2, 3$:

$$4 \log(2) - \zeta(2) = \sum_{i,j=1}^{\infty} \frac{4(2i-2)!(2j-2)!(i+j-1)!}{i!(j-1)!(2i+2j-1)!}, \quad (22)$$

$$8 \log(2) - 2\zeta(2) - \zeta(3) = \sum_{i,j=1}^{\infty} \frac{4(2i-2)!(2j-2)!(i+j-1)!}{i \cdot i!(j-1)!(2i+2j-1)!}. \quad (23)$$

Building upon the known series expansions for G and π , we can formulate a double series expansion that specifically represents these constants. For example, we use the power series expansion

$$\frac{2x \arcsin x}{\sqrt{1-x^2}} = \sum_{n=1}^{\infty} \frac{4^n n! n!}{(2n)! n} x^{2n}.$$

Setting $x = 1/2$ in the above series, we have

$$\frac{\pi}{3\sqrt{3}} = \sum_{n=1}^{\infty} \frac{n! n!}{n(2n)!}.$$

Thus, if we let $h(i) = \frac{i! i!}{i(2i)!}$ and $n = 1$ in Equation (19), then

$$\frac{\sqrt{3}\pi}{18} = \sum_{i,j=1}^{\infty} \frac{(i+j)! i! (2j)!}{(2i+2j)! j! (2j-1)!}. \quad (24)$$

Also, if we let $h(i) = \frac{(-1)^{i-1}}{(2i-1)^2}$ in Equation (19), we obtain a double series representation for the Catalan constant G :

$$G = \sum_{i,j=1}^{\infty} \frac{\binom{ni+j}{j}}{\binom{2ni+2j}{2j}} \frac{2(-1)^{i-1} ni}{(2i-1)^2 (2j-1)}. \quad (25)$$

Aliev and Dil [12] proved that

$$\frac{\zeta(2)}{4} = \sum_{k=1}^{\infty} \frac{O_k}{2k(2k+1)}.$$

Using Equation (19) with $h(i) = \frac{O_i}{2i(2i+1)}$, we have

$$\frac{\pi^2}{24} = \sum_{i,j=1}^{\infty} \frac{\binom{ni+j}{j}}{\binom{2ni+2j}{2j}} \cdot \frac{nO_i}{(2i+1)(2j-1)}. \quad (26)$$

Indeed, we can derive

$$\sum_{n=1}^{\infty} \frac{O_n}{(2n)(2n-1)} = \frac{\pi^2}{12}$$

using the method outlined in [13]. Moreover, by substituting $h(i) = \frac{O_i}{(2i)(2i-1)}$ and $n = 1$ into Equation (19), we obtain the following equation, which exhibits enhanced symmetry:

$$\frac{\pi^2}{12} = \sum_{i,j=1}^{\infty} \frac{\binom{i+j}{j}}{\binom{2i+2j}{2j}} \cdot \frac{O_i}{(2i-1)(2j-1)}. \quad (27)$$

Lastly, we would like to emphasize that, by taking the q parameter towards 1^- in Equation (4), we obtain a concise summation formula that can be applied

$$\sum_{i=1}^m \sum_{j=1}^k \frac{\binom{ni+j}{j}}{\binom{2ni+2j}{2j}} \cdot \frac{2nih(i)}{2j-1} = \sum_{i=1}^m h(i) \left(1 - \frac{1}{\binom{2ni+k}{k}} \right). \quad (28)$$

4. Conclusions

In this paper, our focus is on demonstrating the effective application of the "telescoping method" in handling summation expressions of q -series (ref. Equations (3) and (4)). Specifically, we are primarily concerned with the summation of finite series (ref. Equations (12), (13) and (28)) or infinite series (ref. Equations (8) and (19)) that involve coefficients represented by binomial coefficients.

Utilizing the telescoping method, we derived two general double series formulas that encompass notable mathematical constants, including the Riemann zeta values $\zeta(s)$ (ref. Equations (9), (10) and (21)–(23)), the Catalan constant G (ref. Equations (11) and (25)), $\log(2)$ (ref. Equations (20) and (21)), π (ref. Equations (11) and (24)) and various other significant mathematical constants (ref. Equations (26) and (27)).

Interestingly, there are still many intriguing double series worth exploring, such as the work by Aliev and Dil [12]:

$$\sum_{n,m \geq 1} \frac{H_{n+m}}{nm(n+m)} = 6\zeta(4),$$

or the double series for π established by Wei [8], initially conjectured by Guo and Lian [14]:

$$\frac{\pi}{12} = \sum_{k=1}^{\infty} (6k+1) \frac{\left(\frac{1}{2}\right)_k^3}{k!^3 4^k} \sum_{j=1}^k \frac{1}{(2j-1)^2} - \frac{1}{16j^2}.$$

These equations, among others, present intriguing topics worthy of investigation. Of course, since they were derived using different approaches, it would be fascinating to obtain similar equations using the telescoping method.

Funding: This research was funded by the Ministry of Science and Technology, Taiwan, R.O.C., under Grant MOST 111-2115-M-845-001.

Institutional Review Board Statement: Not applicable.

Informed Consent Statement: Not applicable.

Data Availability Statement: Not applicable.

Conflicts of Interest: The author declares no conflict of interest.

References

1. Chu, W. Three symmetric double series by telescoping. *Am. Math. Mon.* **2023**, *130*, 468–477. [[CrossRef](#)]
2. Srivastava, H.M.; Choi, J. *Zeta and q -Zeta Functions and Associated Series and Integrals*; Elsevier: London, UK, 2012.
3. Frenkel, I.B.; Reshetikhin, N.Y. Quantum affine algebras and holonomic difference equations. *Commun. Math. Phys.* **1992**, *146*, 1–60. [[CrossRef](#)]
4. Lowe, D.A. q -deformed de Sitter/conformal field theory correspondence. *Phys. Rev. D* **2004**, *70*, 104002. [[CrossRef](#)]
5. Andrews, G.E. *q -Series: Their Development and Application in Analysis, Number Theory, Combinatorics, Physics, and Computer Algebra*; American Mathematical Society: Providence, RI, USA, 1986; Volume 66.
6. Kaneko, M.; Kurokawa, N.; Wakayama, M. A variation of Euler's approach to values of the Riemann zeta function. *Kyushu J. Math.* **2003**, *57*, 175–192. [[CrossRef](#)]
7. Zhao, J. Multiple q -zeta functions and multiple q -polylogarithms. *Ramanujan J.* **2007**, *14*, 189–221. [[CrossRef](#)]
8. Wei, C. On two double series for π and their q -analogues. *Ramanujan J.* **2023**, *60*, 615–625. [[CrossRef](#)]
9. De Doelder, P.J. On some series containing $\psi(x) - \psi(y)$ and $(\psi(x) - \psi(y))^2$ for certain values of x and y . *J. Comput. Appl. Math.* **1991**, *37*, 125–141. [[CrossRef](#)]
10. Graham, R.; Knuth, D.; Patashnik, O. *Concrete Mathematics*, 2nd ed.; Addison-Wesley: Boston, MA, USA, 1994.
11. Chen, K.-W. Generalized harmonic numbers and Euler sums. *Int. J. Number Theory* **2017**, *13*, 513–528. [[CrossRef](#)]
12. Aliev, I.A.; Dil, A. Tornheim-like series, harmonic numbers, and zeta values. *J. Integer Seq.* **2022**, *25*, 22.5.5.
13. Campbell, J.M.; Chen, K.-W. An integration technique for evaluating quadratic harmonic sums. *Aust. J. Math. Anal. Appl.* **2021**, *18*, 15.
14. Guo, V.J.W.; Lian, X. Some q -congruences on double basic hypergeometric sums. *J. Differ. Equ. Appl.* **2021**, *27*, 453–461. [[CrossRef](#)]

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.